SV BEY, WEHT) fEEs Rk

EEIAY Bilike] #5Re) slelol Brjelm g

TR LpREEC] RS SHgEC Eh ok
AR TE A, 2gohd #EKE o
M= KEEEl 22 SEEIE ol o 4
BNAEA A &8 F ok

BARE -2l IUAKEEL: §lo] gyelA .-
&8 AF ExAh BK 3ol HEA

—fe 2 [LIHEEC] o) Yol
/‘fﬁﬂtgﬂw si el A71A %3}‘5\.
EAE KE3oF 2 Aotk o)A EFE
WA 7} b Bilke) $iEe) nlisEX
T <

WA A,

g7 QWolFEA = HEX @1 2 KE
W EOKEE) A BEAYEIEES) o) 294 ok
gho] By@sta 1efof 7] KRl E &
Bt FiRstE wholtth. BRAL

W RS 60589 itk

- E5&61ux|,

HEES 9 Hﬂﬁ*lﬁﬁﬁi grolshed gk
ZkHjﬁ‘é , BHgEsS T2l
7] 913t %‘?t% 7FAXEITE 609
A& B3t T 3 2AAFLRE 4
Al4712 gk
TS 1kgd 700902 59 13
A7 8 EHE §AE FU12 stle
H AN v EEFEEA S TR
6}1 Ve A = S s AL
FAA SRR W g 99 Y
wx} Aejgol ) ARE Abgtold g,
REBRAELS R 5 %olm L 90. 8
AFE 115744 4fEF )z W HfiE 91
1 H5E shor g
A # B s 609
FEolut o= W Aol v

EE zmq 2

A Eol WES B ofFx]o] 6&7J<&FB%9P

HIth RS o) o140 FRAE ol
oI Tl A3]

B0l ddsgetn e HiFN %4

o el ¥

= ERLEC =] BROR HiFE
e ¥ FR RERS Y 7T~89E
0.2 FAHI o]F 3H5HAE] F=
oz &0l £ 8§ 5untE]
HRE d53ta ot
S8 9 §AAY =d HES o3 2

ot

2 71 4"
¥ < 13
= u 67
04 401
A = 986
A k22 1,195
e 5 95
% =1 3,239
Al 6,000

-7 -



